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Vectors
	Decomposition of vectors

	1)  Suppose a vector is situated so that its initial point, P, and terminal point, Q, are as given.  Find the components of the vector and write in <a, b> form.


A. 
P = (0, 0);  Q = (3, 4)


B.
P = (1, 5);  Q = (8, 10)


C.
P = (-2, -6);  Q = (5, -1)


D.
What does it mean for two vectors written in component form to be equal?



	Adding, Subtracting, Scalar multiplying vectors

	2) How do you add, subtract, and scalar multiply vectors in component form?

A.

[image: image1.wmf]=+

34

vij

 and 
[image: image2.wmf]=-+

25

wij

, find 
[image: image3.wmf]+

vw

, 
[image: image4.wmf]2

v

, and 
[image: image5.wmf]-

2

vw


B.

[image: image6.wmf]=--

45

vij

 and 
[image: image7.wmf]=--

3

wij

, find 
[image: image8.wmf]+

vw

, 
[image: image9.wmf]3

w

, and 
[image: image10.wmf]-

3

vw




	Adding, Subtracting, Scalar multiplying vectors

	3) Add, subtract, and scalar multiply the following vectors:
A.

[image: image11.wmf]=+

34

vij

 and 
[image: image12.wmf]=-+

25

wij

, find 
[image: image13.wmf]+

vw

, 
[image: image14.wmf]2

v

, and 
[image: image15.wmf]-

2

vw


B.

[image: image16.wmf]=--

45

vij

 and 
[image: image17.wmf]=--

3

wij

, find 
[image: image18.wmf]+

vw

, 
[image: image19.wmf]3

w

, and 
[image: image20.wmf]-

3

vw




	Magnitude & Direction of vectors

	4) Find the magnitude and direction of each of the following vectors:

a.

[image: image21.wmf]=-

34

vij

; find 
[image: image22.wmf]v

 and 
[image: image23.wmf]a


b.

[image: image24.wmf]=-+

247

wij

; find 
[image: image25.wmf]w

 and 
[image: image26.wmf]a




	5) Write the vector in the form ai + bj, given its magnitude and direction (angle from positive x-axis).


a.

[image: image27.wmf]=

5

v

, 
[image: image28.wmf]a

=

o

60



b.

[image: image29.wmf]=

7

w

, 
[image: image30.wmf]a

=

o

330



c. 
Using the vectors above, find 
[image: image31.wmf]+

vw

.  Why can’t you just add the magnitudes and angles?



	Application – resultant force

	6)[image: image32.png]IF,J| = 40N

[[Fy/[ =60N



 Two forces act on an object at angles of 30° and -45° as shown in the figure.  Find the direction and magnitude of the resultant force. 

Hint: If you can figure out what the two vectors are, you can add them.
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